
 

 

OBJECTIVE 
 

1. To understand the meaning of surplus labour and 

disguised unemployment. 

2. To understand the impact of surplus labour in 

agriculture and in other sectors. 

3. To understand the transfer of labour from low 

productivity occupation to high productivity occupation. 

4. To know why and when labour moves from the 

traditional sector to the modern sector. 

5. To understand this phenomenon of labour transfer 

  from the traditional sector to the modern sector 

according to Arthur Lewis’s model. 

 


